
Important point to note : Power is given at the inper side => Can find forces at worm.
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[Fy = Ay + By - 69
.
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4 + By = 0

[Ma = (1. 5) (52. 5) - (2 . 5) (646) + (4)(By) = 0 [Ma = (1. 5) (264) + 14) /Bz) = 0

=> By = 58 . 9 l6f , Ay = 10. 7 167
=> Be = 9917 ,

Az = 165 1st

&F = Bx + 52 . 5 = 0

=> Bx =
- 52 . 5 16t

Bearing forces

Fra =J+ (A1) = 165 . 35 167
Fax = O

Fri =J+ (Bz)) = 115 . 2 167 Fab = 52. 5 At

Torsion on shaft : T = 264 x 2 .
5 = 660 16. in

Efficiency :

p=Max = 0. 8380oA (b)

Then output power Pout = 1 . Pin = 0. 84 hp (c)


